AL-Muthanna University
College of Science
Dep. Of Chem\ physical chemistry III

The second lecture
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Example 1/

Calculate the weight of electrochemical equivalent from hydrogen and

silver if know that the atomic masses are H=1, Ag=108

Sol\



2H' + 2¢ >H, (2)

Ag+e > Ag(s)
_ MWt __ 2x1

Kaw) = ZF  2X96500
AWt _ 108

Kag = ZF  1X96500

Example2/

Current passed intensity(1.5 A) in copper chloride for one hour, if the
Wight of copper deposited (1.778 g). What weight of electro chemical

equivalent of from copper.

Sol/

m 17789
.t 15X3600
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